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Quiz Date: 27th May 2020 

Directions (1-5): Study the information and answer the given questions: 
There are ten persons namely P, Q, R, S, T, U, V, W, X and Y. They got appointments on 14th 
and 19th of different months i.e. January, March, April, June and July but not necessarily in 
the same order. 
V got an appointment in the month which have odd number of days but not in January. Four 
persons got appointment between V and W. T did not get appointment on an even date. V got 
appointment before W. X got an appointment in the month which has odd numbers of days. 
S got an appointment on an even date of the month which has even number of days after T. 
P got an appointment just before T. Only two persons got an appointment between X and Y. 
U got an appointment just after R but not in April and January. Only three persons got an 
appointment between Q and U. T and U got appointment on the same date but different 
months. 
 
Q1. Who among the following got appointment in the month which has less than 31 days? 
(a)T 
(b)W 
(c)Y 
(d)U 
(e)Both (b) and (c) 
 
Q2. Four of the following five are alike in a certain way and hence they form a group. Which 
one of the following does not belong to that group? 
(a) Q 
(b) U 
(c) S 
(d) T 
(e) W 
 
Q3. Who among the following are the persons who got appointment on the first and the last 
day? 
(a) R, X 
(b) P, Y 
(c) Q, U 
(d) P, U 
(e) V, P 
 
Q4. How many persons got appointment between T and Y? 
(a)No one  
(b)More than four  
(c)Three 
(d)Four 
(e)Two 
 
Q5. Who among the following got appointment on 19th June? 
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(a) S 
(b) W 
(c) T 
(d) Y 
(e) R 
 
Directions (6-10): These questions are based on the following six numbers. 
 
412  646  734  255  536  876 
 
Q6. If we add 2 to the second digit of each number and subtract 1 from the first digit of each 
number, then which of the given will become the lowest number?  
(a) 646 
(b) 536 
(c) 255 
(d) 412 
(e) None of these 
 
Q7. If all the digits in each of the numbers are written in increasing order within than 
number, than which of the given number will become the second highest? 
(a) 412 
(b) 646 
(c) 255 
(d) 536 
(e) None of these 
 
Q8. If the first two digits of each number are interchanged, then which of the following 
numbers will become the highest number? 
(a) 734 
(b) 536 
(c) 646 
(d) 412 
(e) 876 
 
Q9. In each number, if we subtracted 1 in first digit and added 1 in last digit, then which 
among these number will be 2nd lowest number? 
(a) 734 
(b) 255 
(c) 876 
(d) 412 
(e) None of these 
 
Q10.If we replace all the odd digits in each number with zero, then which of the following 
number will become the lowest? 
(a) 734    
(b) 536 
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(c) 412 
(d) 255 
(e) 876 
 
Q11. In a certain code language ‘DOME’ is written as ‘8943’, and ‘MEAL’ is written as ‘4321’. 
What group of letters can be formed for the code ‘38249’? 
(a) EOADM 
(b) MEDOA 
(c) EMDAO 
(d) EDAMO 
(e) MEAOD 
 
Q12. How many such pairs of letters are there in the word “PREVENTIVE”, each of which 
has as many letters between them in the word as in the English alphabet? 
(a) None 
(b) One 
(c) Two 
(d) Three 
(e) More than three 
 
Q13. If it is possible to make only one meaningful word with the first, third, fifth and the 
ninth letters of the word ‘CURVATURE’, which would be the second letter of the word? If 
more than one such word can be formed, give X as the answer. If no such word can be 
formed, give K as your answer. 
(a) R 
(b) C 
(c) X 
(d) E 
(e) K 
 
Q14. Each vowel in the word SURROUND is changed to the next letter in the English 
alphabet and each consonant is changed to the previous letter in the English alphabet. 
Which of the following will be the second from the right end in the new arrangement? 
(a) M 
(b) C 
(c) V 
(d) P 
(e) R 
 
Q15. The positions of the first and the second digits of the number 54378926 are 
interchanged. Similarly, the positions of the third and the fourth digits are interchanged 
and so on. Which of the following will be the sixth digit from the left end after the 
rearrangement? 
(a) 6 
(b) 8 
(c) 9 
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(d) 2 
(e) 7 
 

 
 

Solutions 
Solutions (1-5): 
Sol. 

          Date 
Month 

   
     14th  

 
      19th  

January         P         T 

March         V         X 

April         S         Q 

June         Y         W 

July         R         U 

 
S1. Ans.(e) 
S2. Ans.(c) 
S3. Ans.(d) 
S4. Ans.(d) 
S5. Ans.(b) 
 
Solution (6-10): 
S6.Ans.(c) 
S7.Ans.(b) 
S8.Ans.(e) 
S9.Ans.(d) 
S10.Ans.(a) 
 
S11. Ans.(d) 
Sol. If DOME=8943, MEAL=4321, 38249=EDAMO 
 
S12. Ans.(d) 
Sol.  
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S13. Ans.(c) 
Sol. CURVATURE. The letter is = C, R, A, E 
      We can form two words from above letter= RACE, CARE, ACRE 
 
S14. Ans.(a) 
Sol. 

 
 
S15. Ans.(b) 
Sol. 
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